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NOTE:You have four choices for each objective type question as A, B, C and D. The choice which you

gmtltll(r: S gf ;lrli‘r:]t Rl\l,that circle if‘ ffOnt‘of that question number. Use marker or pen to fill the circles.
utung g two or more circles will result in zero mark in that question.
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No Questions A ‘ B C D

1. |18 to 30 is same as: _ : 3.4 3.5 6:7 6:9

7. | The price of 12 apples is Rs. 50. What is

.| the price of 24 apples? 100 60 70 80

e P

3. | The money borrowed is called: Amount | Principal | Interest |Future value
4. | A cubic function has degree: ‘ 2 1 0 3
5. | The standard form of linear equation is: | a—bx=0 [ac+bd=0|ax+b=0]| ax-b=0
6. | Solution set of equation x2—5x+6=10 {2,3} {-2,-3} | {-2,3} | {2,-3}

|21 5§

7. | The order of the matrix | ,~ o | it 2x3 2x4 3x5 4x2,
8. |Identity matrix is also called: l:]f:tnr::: rf:lant]rt;( mZ:t;(i)x- oz
9. |Convert (111)2 in decimal system: 7 9 1 - - 13
10.[(11)2 x (10)2 = : (11)2 (ol | (1o | 101y

LB [2. A |3 B [ D |5 C [6. A [1. A [8. D [9. A [10.C |

Subjective Type
11th CLASS- 1t Annual 2024
BUSINESS MATHEMATICS ‘o
Time: 1.45 Hours SECTION -1 Marks: 40
71 Write short answers of any Six (6) parts of the following. i 6 x2=12
() Express in reduced form ; 24 : 64 ‘
Sol. 24:64

12:32 = 6:16 = 3:8

(i) Find xif14: 19 : : x : 38 using its equation form.

Sol. -lﬁ = X -
19 = 38 14 % 38 _ T
14x38=19x = x="1g 28 ,

(i) 25% of what number is 2007

Sol. Herca=25,b=2,c=200
As ab = 100¢

(25)(b) = 100(200)
25b =20000
20000
b="25"

~ b = 800
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(iv) Fi;;d the siml;l—c_i-ntcrcst on Rs. 800 for three years at 5%.

- P =Rs. 800
ot I =5% =0.05
N =3 years
AsSimple Interest (S.1) =PIN
= (800)(0.05)(3)
S.I =Rs. 120

(v) A watch was sold for Rs. 850 on 5% loss. Find the original cost of watch,
Sol. we are given: ;
Selling price (S) =Rs. 850
Rate of loss (R") = 5%
As, to find cost

C-S§
Markdow =R'= [ C

R' = [C;leoo]% %

xlOO]%

5% = CCS xlOO]%

C-S
= 5 = C x[OQ -

5 C-850

= T
0.05c =C -850

850 =0.95¢

850

€ =0ss

Cost=C =894.74
Therefore the origional cast of the watch was 894.74
(vi) Find the Domain and Range of y=2x+1
Sol. y=2x+1
As the given linear function is defined for values of real numbers
So Domain = set of real numbers '
' OR
=R
Range = set of real numbers
Or.
R

(vii) Draw the graph of y =3x -1
Sol. Given y =3x-1

The given linear function has X-intercept is 1»0 and y-int ’ hi
B and y-mtercept is (0,~1), So graph is

y-axis

(10)

/ X-axis
(0~1)
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(i)
Sol.

(iii)
Sol,

(iv)
Ang,
(v)
$al,

l’, 5"So|vex1+!"'6=0by factorization,
: ("‘: 2+Ax-—6=0 =>X2—2X+3x._6=0 = x
L gol

(x+3)(x—2)=0 =x+3=0
rf@=x~1, then find f(\3) and 1(/2)
fix) =x2-1 -

x=~/§; f(\/i) =(‘«/3)2 -1=3-1=2
» x=v2 ; f(\/i)=f(~/5)z—l-—~2-|

=]
Write short answers of any Six (6) parts of the following.

X . 3
/()= 37§ 5 find f[;)

X

W™ =g

Xx+8

put

on both side

put ' X

Sketch the graph of x +y =0
x+y=0 s

As the linear function has a straight line
y=-xXx

; (x=2)+3(x=2)=0
» X=2=0 x=-3, x=2 = 8.5={(2,-3)}

X 2 1 0 -1

y -2 -1 0 1

| y-axis

(-2.2)
=11

— i
i 0 \{ -1

(2-2)

v
y-axis

Convert (1001), into decimal numbc:r.0
(100|)2=|x23+ox22+0x2'+|x2 s
=1x8+0x4+0x2+IXI

=8+0+0+1
(1001), = (o
Define binary number system-
A number system that based on On

Evaluate (11010), + (1100);

ly two digits 0 and

’

x-axis

a1t 01 0y

+ a 1 0 0),
+

6 x2=12

1 is called binary number system.

\ - —
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3i+2y=12 . - ]
. . m 1X m " :
(vi) Write  jgmqy MMAT : 1

Sol. Given: 3x+2y =12
x+35y =17
The matrix form is

[ 361-7]

' ‘ 4 9
(vii) Find inverse of A = [7 6]

4 9 . ‘ 6 -9
Sol lz?l =l 6|=’(4><6’-9><‘]’)=(24-63)'—'—39 , Adj(A)= 7 4
6 9] [.6 o [Z2 3
‘A Adj (A) _._[_7 4] ~ 39 .39 _ 13 13
Al 39 |1 AL 2
39 39 39 39
x 2 '
(viii) Find xof A= [6 3} is singular
. x 2
Sol. ‘ . A= ‘6 3
As A is singular, so [A|=0
x 2
6 3 =90
v 3x-12 =0
3x =12
= x =4
(ix) . Find transpose of matrix A=[1 2 3 4]
Sol. _ A =[1234]
' A' =[1234]
1
2
Al =3
4
AT ©  SECTION - II ¥
(ZR Attempt any TWO questions from this section. . : g x 2=10

[T} (a)A TV costing Rs. 6000 was sold Rs. 6500. Find profit / Loss percentage.
Sol. Given: ,
Cost price = Rs. 6000
Selling price = 6500
Profit = Selling price — Cost price
= 6500 - 6000
=500
. 500
Percent profit = 0 100%
=8.33%

gl
3
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wy im deposited Rs. 150 into a bank at the end of each month for 5 years at a rate of 7%
pounded monthly find the Future Value of annuity. '

ol G v[ﬁstallmcnt =R =Rs. 150
Time =n =5 years
=3 % 12 months (1 years = 12 month)
= 60 months
* Rate of interest =6 = 7% per aiinum
7%
= 75 permonth

12
0.07
kel =10.005833 per month

(141)" =1
e

o [(l+0.005833)°° -1]

Using the formula

- 0.005833
=150 (71.5921)

=10738.82
Therefore, the future value of hazimis annuity is approx:mately Rs. 10738.82

@ (&)1 (x) = 8- 2x—x2. Find { (1) , 1 (1), (2),  (-2)-

sol. fix) =8-2x-x>
put x =1
f(1) =8-2(1)- (1)2—8 2-1=5
put . x ==—1
f(—l).=8—2(—l)—(—l)z=8+2—1=9
put X =2
f(2) =8—2(2)—(2)2=8—4—4%0
put x =-2 '
f-2) =8-2(-2)-(-2)
=8+4-4=8

() Find solutlon set of by method of 2x% 1= - x completions square.
Sal. 2x2-1 =-x

“2x2+x =1
Divide by 2 on both side
o x _ 1 lx'_l.=l
STl 272 4
1 2
Add (Z) onb.s
L1 1 (LY
**5*[2) =5’*(3)
1Y 11
(“z) =216
1Y 8+l
(x+z) =16
1Yy 9
(H:‘.) -

Tacking square root on both side

\M=J'Zﬁ
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N
1 :
(X+Z)=iz | 3
i x+l=-§ x+z=‘z .
Ay 31
31 ¥ i j
o 44 |
2 e |
4
x=l =_‘3"
2 =1
sS:{—_l,l}
. 2
‘ 3 3 ol g o
Liﬂ(a)lm=[4 1], then prove that A" A = 1
3 -3
Sol. A=[4 l]
. 1 ) )
As_ K" ::NAdJA [0
3 -3
IA\=\4 ‘|\=3,+12=15¢0
o 13
AdjA =[_4 3]
So, (i) becomes
1f1 3
T 3]
Now Ata =L 3] [3 =
' 1514 3] [4 1
iefiras12n. - =343
1512412 12+3]
115 o
E K 15]
15 -:0
15 15
=10 15
L1515
(10
Lo 3]
(b) Simplity (11011), x (1101),
‘Sol. (11011), x (1101),
a1 0 1),
x (1 1 0 1, )
1 0 |-
‘0 0 0 0 «x
I': 0 1 I x x
L | 1 R
a o T T e
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